2 X7GER 01-1
RO 2 WHERERE RS0,

(1) a®> =81

(4) a?—-36=0

6) (x+2)3*=7

8) (x—4)2—2=0

(10) 3(z —5)* =63

(12) 3(x +4)2—-15=0

-2 RAEK01-1 -

( /13) (
(2) 22 =27 (3) a% =100
(5) 22 —4=0
(7) (x—5)2=3

(9) (#—6)2—21=0

(11) 3(x —2)? = 42

(13) 5(x +2)2 -10=0

— 13th-note —

)



-2 RAEK01-1 -
2 R7A%EX 01-1 ( /13) ( 53 )

WD 2 WG EMHE RSV,

(1) a® =81 (2) 22 =27 (3) a% =100
a =19 r = £33 a = *10

(4) a*> -36=0 (5) 22 —4=0
a = 16 x = 12

6) (x+2)2=7 (7) (x—5)?=3
r=—24+7 x=>5++3

8) (x—4)2-2=0 (9) (x—6)2—21=0
r =4+ 2 xr=6++21

(10) 3(z —5)? = 63 (11) 3(z —2)?> =42
r=5++21 r=2++14

(12) 3(z+4)> —15=0 (13) 5(x +2)2 -10=0
x=—4++5 x=—2++2

— 13th-note —



2 X7%ER 01-2
RO 2 WHERERE RS0,

(1) 22 =100

(4) 22 -2 =

(6) (x+4)*=15

8) (z—6)2=3=0

(10) 2(x + 4)? = 46

(12) 3(z —4)>-9=0

2 mAER 01-2
(13 (

(5) 22 —-9=0

(7) (z—1)2 =35

(9) (x+6)*—2=0

(11) 2z +1)? = 14

(13) 5(x —1)2 -=10=0

— 13th-note —

)



2 R7ATEX 01-2

WD 2 WG EMHE RSV,

(1) 22 =100
x = +10
(4) 22 -2=0

r = ++/2
(6) (x+4)*=15

x=—4++15

(8) (—6)2—3=0

xr=6++3

(10) 2(x + 4)? = 46

r = —4 123

(12) 3(z —4)>-9=0

xr=4++3

-2 RAEK01-2 -

( ) )

(13

(3) 2% =64

r = 18

(9) (x+6)?—2=0

xr=—6++2

(11) 2z +1)? = 14

—1+7

r

(13) 5(x —1)2 -=10=0

r=1++2

— 13th-note —



2 X% 01-3

WD 2 WG EMHE RSV,

(1) 22 =21
(4) 22 —10=0
(6) (w—1)2=2

8) (z—1)2—45=0

(10) 4(x — 4)2 = 48

(12) 5(x —5)2 —25=0

2 mAER 01-3
(13 (

(5) a®> —25=10

(7) (x+3)*=6

(9) (z—5)2—=31=0

(11) 4(z +6)* = 96

(13) 5(z +5)2 —55 =0

— 13th-note —

)



2 X% 01-3

WD 2 WG EMHE RSV,

(1) 22 =21

xr = ++/21
(4) 22 -10=0

r = +/10
(6) (x—1)2=2

rz=1++2

8) (x—1)2—45=0

x=1+3V5

(10) 4(x — 4)2 = 48

xr =4+ 2V3

(12) 5(x —5)2 —25=0

xr=5++5

-2 RAEK01-3 -

(/13 ( 4 )
(2) 22 =17 (3) 22 =49
r = +17 T =7
(5) a2 —25=0
a =15

(7) (x+3)*=6

x=—-3++6

(9) (z—5)2—31=0

r=5++v31

(11) 4(z +6)* = 96

r=—6+2V6

(13) 5(z +5)2 —55 =0

r=-—-5++11

— 13th-note —



2 X753ER 01-4
RO 2 WHERERE RS0,

(1) 22 =100

(4) 22-9=0

6) (z—3)% =47

(8) (z+2)*-8=0

(10) 2(z —3)* =6

(12) 4(z +6)> —12=10

2 mAEER 01-4
(13 (

(5) a* —14=0

(7) (x+1)*=38

(9) (x+5)*=3=0

(11) 3(z +5)* = 42

(13) 2(x —5)? —42=0

— 13th-note —

)



2 R7A%EX 01-4

WD 2 WG EMHE RSV,

(1) 22 =100
x = £10
(4) 22 -9 =0
x = +3

6) (z—3)% =47

xr =3+ /47

(8) (z+2)*-8=0

r=—2+2/2

(10) 2(z —3)* =6

r=3++3

(12) 4(z +6)> —12=0

xr=—61++3

-2 RAEX01-4 -

( ) )

(13

(2) 22 =81 (3) 22 =16

r = +9 x = 14
(5) a* —14=0
a = ++14

(7) (x+1)*=38

x=—1++38

() (z+5)2-3=0

r=—-5++3

(11) 3(z +5)* = 42

r=—5++14

(13) 2(x —5)? —42=0

r=>5++v21

— 13th-note —



2 XAEKX01-5
RO 2 WHERERE RS0,

(1) a® =22

(4) a2 —25=0

(6) (x+4)2=7

8) (x+2)>—23=0

(10) 3(z —3)*> =18

(12) 2(z +3)? —44 =0

2 mAER 01-5
(13 (

(5) > —11=0

(7) (x+3)*=3

(9) (z—4)2—28=0

(11) 2(z — 4)% = 46

(13) 5(x —2)2 —25=0

— 13th-note —

)



2 R7A%EX 01-5

WD 2 WG EMHE RSV,

(1) a® =22
a = +/22
(4) a®> —25=0
a= =5

(6) (x+4)2=7

x=—4+7

8) (x+2)>2—23=0

x=—21+v23

(10) 3(z —3)* =18

xr=3++6

(12) 2(z +3)? —44 =0

r=—3+ 22

-2 RAEK 01-5 -

(/13 ( 5y )
(2) a? =30 (3) 22 =49
a = +/30 T = £7
(5) > —11=0

r = 11
(7) (x+3)*=3

xr=—-3++3

(9) (z—4)2—28=0

r =4+ 27

(11) 2(z — 4)% = 46

xr =41+ +v23

(13) 5(x —2)2 —25=0

r=2++5

— 13th-note —



2 X7A1ENX 01-6
RO 2 WHERERE RS0,

(1) 22=3

(4) a2 —-19=0

(6) (x+4)*=6

(8) (x+4)>—23=0

(10) 4(z — 3)* = 24

(12) 4(z —3)? —8=0

2 mAEER 01-6
(13 (

(5) > —11=0

(7) (x+3)*=28

9) (z—2)2-8=0

(11) 2(z — 6)* = 28

(13) 5(z —5)2 =60 =0

— 13th-note —

)



2 X% 01-6

WD 2 WG EMHE RSV,

(1) 22=3
r = +V3
(4) a®> -19=0

a = 1419
6) (x+4)>=6

x=—4++6

(8) (x+4)>—23=0

r=—4+ 23

(10) 4(z — 3)* = 24

xr=3++6

(12) 4(z —3)? —8=0

xr=3++2

- 2 /AR 01-6 -
(/13 G S 5

(2) a2 =16 (3) 22 =81

a=+4 x =319
(5) > —11=0
r = 1+v11

(7) (x+3)*=28

xr=—3+ 27

9) (z—2)2-8=0

xr=24+2V2

(11) 2(z — 6)* = 28

x=6++v14

(13) 5(z —5)2 =60 =0

x=5=+2V3

— 13th-note —



-2 RAEK 01-7 -
2 R7A%ERX 01-7 ( /13) ( 53 )

WD 2 WG EMHE RSV,

(1) 22 =16 (2) 22 =36 (3) a2 =16
(4) 22 -16=0 (5) 22 —100 =0

(6) (z+6)% =21 (7) (x+3)? =18

(8) (z+5)2-39=0 9) (z+2)2-38=0

(10) 3(z +5)* =36 (11) 5(z +6)? =15

(12) 5(z+3)>-110=0 (13) 2(x —5)? —44 =0

— 13th-note —



2 R7A%ERX 01-7

WD 2 WG EMHE RSV,

(1) 22 =16
x = +4
4) 22— 16=0
x = +4

(6) (z+6)* =21

r=—6=L+v21

(8) (z+5)2—-39=0

x=—51+v39

(10) 3(z +5)* =36

r=—5+2V3

(12) 5(x +3)2 =110 =0

r=—3+ 22

- 2 AR 01-7 -
(/13 G S 5

(2) 22 =36 (3) a2 =16

xr = 16 a = 14
(5) 22 — 100 = 0
xr = 110

(7) (x+3)*=18

xr=—34+3V2

(9) (z+2)2-38=0

x=—2++/38

(11) 5(z +6)* =15

—6++/3

r

(13) 2(x —5)? —44 =0

r=>5=++v22

— 13th-note —



2 X7A1EN 01-8
RO 2 WHERERE RS0,

(1) 22 =10

(4) 2—13=0

(6) (z —6)2 =33

(8) (z+6)2-31=0

(10) 5(z —1)? =40

(12) 5(z +4)> =35 =10

2 mAER 01-8
(13 (

(5) 22 —22=0

(7) (z+1)*=21

(9) (z—3)2—29=0

(11) 4(z +5)* =44

(13) 3(z+3)2 —57=0

— 13th-note —

)



-2 RAEHX 01-8 -
2 R7A%EX 01-8 ( /13) ( 53 )

WD 2 WG EMHE RSV,

(1) 22 =10 (2) a? =64 (3) a2=7
r = £4/10 a = +8 a = +7

(4) 22 -13=0 (5) 22 —22=0
xr = ++413 r = ++/22

(6) (x—6)*>=33 (7) (x+1)*=21
xr =6+ 33 r=—14++21

(8) (x4+6)2-31=0 (9) (z—-3)2-29=0
x=—6++31 x=3++29

(10) 5(z — 1) =40 (11) 4(z+5)> =44
x=1%+2V2 x = —5++/11

(12) 5(z +4)> =35 =0 (13) 3(z +3)? —57=0
x=—4+7 xr=—3++/19

— 13th-note —



2 XA1ENX 01-9
RO 2 WHERERE RS0,

(1) a®> =49

(4) a2 —100 =0

(6) (x+4)?=2

8) (z—5)2=5=0

(10) 4(x +2)* =8

(12) 3(x —6)2 —15=0

2 mAER 01-9
(13 (

(7) (z—2)% =29

9) (z—1)2—15=0

(11) 3(z+1)* =9

(13) 5(x —2)2 =65 =0

— 13th-note —

)



-2 RAEK 01-9 -
2 R7A%EX 01-9 ( /13) ( 53 )

WD 2 WG EMHE RSV,

(1) a? =49 (2) 22 =36 (3) 22 =24
a=+7 r = +6 r = +26
(4) a®> —100=0 (5) 22 —4=0
a = *£10 x = 12

(6) (z+4)* =2

r=—4++2

8) (1—52-5=0

x=5++5

(10) 4(z +2)* =38

r=—2++2

(12) 3(x —6)2 —15=0

x=6++5

9) (z—1)2—15=0

r=1++V15

(11) 3(z+1)*=9

—1++/3

r

(13) 5(x —2)2 —65=0

r=2+1++13

— 13th-note —



2 XA 01-10
RO 2 WHERERE RS0,

(1) a®> =11

(4) 22 -5=0

6) (z—1)2 =30

8) (2 —6)2—22=0

(10) 4(z +2)% = 20

(12) 3(z —2)2-6=0

2w 01-10
(13 (

(5) 22 —-20=0

(7) (z+3)* =40

9) (z—1)2-26=0

(11) 3(z —3)? =18

(13) 5(x +1)2 —115=0

— 13th-note —

)



— 2 RFEA 01-10 -
2 X% 01-10 ( /13) ( 53 )

WD 2 WG EMHE RSV,

(1) a®> =11 (2) a® =19 (3) 22 =4
a =111 a = ++19 r = 12
(4) 22 -5=0 (5) 22 —20=0
r =45 r = +2/5
6) (z—1)2=30 (7) (x+ 3)2 =40
x=14+30 x = —3+2/10
(8) (x—6)2—22=0 (9) (x—1)2-26=0
x =6+ 22 r=1++26
(10) 4(z +2)?> =20 (11) 3(z —3)> =18
xr=—-2++5 xr=3++6
(12) 3(x —2)2-6=0 (13) 5(x +1)2 —115=0
r =242 r=—14++23

— 13th-note —



